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. [(—16) +24]+(—4)=(—16)=(—4) +24+(—4)
)2. 80+[(—4)+2]=80+(—4)+80+2

)3. # pg<0> p+g<0-> Hlp|>|g| > Bl p<0<q -
Y. (—5)%X(9—4)=(—5)x9+(—5)x4

)5. (—899)x13=(—900)x13+1
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(C)fa+(bfc)=a><b+c (D)—a+(b—c) =ax
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(A)—3 (B)3 (021 (D)42

)3. 3K 2001x2002 — 1999x2004 7 & Fyfa] ?
(A)6 (B)16 (C)26 (D)36

). 3K 536X0.52—364x0.48 -+ 364x0.52 — 536x0.48 =7 {5 By{a] ?
(A)0 (B)20 (C)36 (D)40
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(A) 5y (B) 5y+9 (C) 5(y+9) (D) 5+ 18 - -
)6. FHE (—12)+(—18)+~(—=6) —(—3)x2 Z{H R ?

(A)—15 (B)—3 (O)11 (D)16

). 5FE 19— (—2)x (—12)—7) ZfHE R ?
(A)—1  (B)—19 (C)19  (D)47

)8. LT 10x11x12x13x14=240240 > I ( —11)x (—12)x (—13)x ( —14)x (—15)=?
(A)320320  (B)360360 (C)—320320 (D)—360360

)9. B 12—7x (—32) +16+(—4) Z{H B ?
(A)36 (B) —164 (C) —216 (D)232
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(A)240~280 5= (B)200~240 5T  (C) 160~200 5T (D) 120~ 160 7T
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(A) (a—1)(b—1) >0 B) (b—1)(c—1) >0 C 0 4 B
(C) (a+1)(b+1) <0 (D) (b+1)(c+1) <0 ¢ —1 oo 1 b
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(A)—18 (B)—10 (C)2 (D)18-
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(A)101 (B)—101 (C)808 (D)—808 - semnan
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